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SECTION A (60 marks)

For each question from 1 to 30, fouwr options aie given. Unc of them i
answer. Shade the cotrect oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Four pieces of bread A, B, C and ID are subyoted 10 ditferent conditior
shown in the table below. '
Bread Couditions ;
A _ No air f dr i
B air '% oy
c No air i dams j
___ D alr | damp
On which bread will mould most likely prow?
1 - J‘X
2 B
3,. ¢
4, D
2. Wou are given the picture of a plant below,

Which of the following staiements are correct 7

A

It hias & weak stem

It has a short life vycle
1ts flowers grow smgly
Its fouit has many seeds

A and B only
A and C only
A, B and C only
A, Cand D only




2

U

i betow oy Questions 3 and 4.

3. Wiueh i¢ toe male pari of the flower?

1. A
2 [
3. C
4, E

5. Which gu of the fiower will develop into fiuit and seeds?
o P! G !
I A oo
b2 T £, C _
B , D |
e TR SR ]

5 The dia gram below showe an organism that reproduces by division. The
following shows how the division OCCurS.

How mary of such organivms are there altey the fourth division i there iz onein




You are given a table below. Which of the following 1t incorrect?

! Organism Colour of viest | Reproduce from |
‘ pat’s_ | o

| Balsain green - ead
Yeast gTech ) 1 spotes
Moud | Nom-green Spores

' T e
t 4. | Chillie | preen sceds

|

— T

t |~

[

Sammy wants to find out the effect of light wtensity o the rats

photosynthesis. Whick of the experimeats shown below will give im 2
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1. Aand B
2. Band D
3 B, Cand F
4. A, Cand D
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Threr chiidren tesied come food with ndine and recordes the re
Showy hetowve,

L5

Uit ﬂu

table

Qvservation Does it centain starch?
iod ne turns dark blue ! Ves :
i

B i

; Riee 1 Todine tums dark blue o ‘ Yes

F1~ b} jodine remaing the same LOiOh‘ ] No

4
! auzqt L_ =O'“")t remains the same uozo No
j 1ald

{
}
ne reratns the same colour | No i

Basea on the above table the ehildren made the following siatements,

e S me R e not prasent in the meat tested.
s not found inomeat but only in plants.
lare ’\I of 24 plant parts contain starch '

Who miade the earyect statements?

A O s -
{,{‘{‘:{‘- ARG AT

m“/ anc Saily

Plants
|
i
{

o Growing int Crowing on
Ponds

| : |

3 ,__.,4~;w} ‘ i.,_.. ,,,,,
Pongpong | X | ‘Water Y )

ree b .w_.{ letuce -

Which of the following set of plants can be placed nboxaes X, ¥ and 27
Y 1Lz . 1
castianina money Hiant :
Lasies . A i
i water-lily { ramblian ;
A : S
iL begv‘rja cachus _
| tore bird’s nesi fern ;

e



10. The following are life cycles of various organisms. Which of the Life cyeie is

correct?
1. [Bgg — pupa — wiiggler - 1mosquito T
5 S, et o —i
2. | Bgg — caterpillar ~» pupd - butierfly ]
3. | Egg — aymph -+ ant T
gt —
4. 1 Egg — maggot — cockroach ;

11, Some animals produce hundreds of eges yet thev do not everpopulate the world.
It is because sowme .

do not hateh-

die of discase

are eaten by predatirs

are collected for scientific studies

Caowx

A and B only
C and D only
A, Band Conly
A, Bane D only

FRE TS I N

12.  The diagram ot the heart 1s given below.

-

What i3 the corrveet sequence of blood tow ia the body?

1. AB,CDEFEC
2. ABCEFE DG
3. ACB.T,DE G
4 CBD.EF G A




13. A gm‘ i 'n p'-' 'p*}s W r“e mﬁtm"*ea to c:olivci thc rals fou'“(‘. m end arounda the
soliected,

How many populations of animals were represented by what they had colls *cLeo

N ead
L4

N

i
{

'

~

R
w0

(4. Which ot the followiug are decomposers?

moous

e

" {

L Bana Boo

. P
and B

5 and L‘

T G W W%



N Ly

15. A classification table of animals is given beiow.

Lays ecggs
Frog

Which pair of animals has béen incorrectly classif

MJ e

PN S

Meat-eaters Fiani-eaters
i ; r - i —_ _—
o [ l
Give birth alive LAYS eZES Give buth alive
0 ¥ )
' | | |
i i i
Platypus \ Rabeit Goar

frog and goat

‘frog and rab-nit
' platypus and goat
platypus and rabbic




6. Two pieoss of metal fars X and

X

by

e e
.,

attract

Which ope of thess is most Ukely the comect concluston ?

1

4~ = G -

Foth bars X and Y are maguets.
Bar ¥ ie 2 magnet but bar X is not,
Roth bars X and Y are non- magnets.

‘Rar Wis x sirogger magnet than Bar Y,

17, Given that the ohiect i the middle s opague. which of the diagrams balow shows |
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18, Mary set up the experiment as shown below.  She tested ine four objects, A,
B, Cand D separately by securing them on the plasiic board with a sticiay wpe.
She observed what happencd to the spnng coll and rocorded har observasions

wn the table below.

P

R

" e e e
Object , Le_nr;ch of Spring Coll (o)

A 6 o

| B 7 |

C 3 i

D & I

~ “
™~ FEsue hoard
/.;

Based on the abservation above, what coutd objects A, &, Cand D be ?

A B C = ’
i i
: 2
1. Copper bar Magpet ron bar Steel bar
2. Stee! bar Copper bar 4 Magner Jron bar
3. iron bar Steel bar | Cappet tar ! Map
4, | Steel bay Tron bar i Maguet |’ C
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16, Lyaft took two identical shs.e.ts of paper and let there {all w the floor several times from
the same height . Mo found that they nsually take about the same time to reach the floor .
He then squashed one 05 ne s Hz:ets of paper into & very sght ball and again fet (c fali to
the ground se Jc:a'i: times . Each time the squashed bali fall more guickly than the sheet
of paper. Froms the resolis ) Jim concluded that

‘/’ o~ o~ . /}’:‘“\«
/ / " 5’ V>\ N\
) / A N
7 s ( \\ / H
'S , VAN
e ¥ b _____ X

ol paper . sqnz-she.u papey

L agrester ay SN,& ce acted on the flat sheet of paper

N . T0 gravin acted morge strongly on the 'l t»a of papey \

1 alrresistance sicweed the sheet of paper, tut not the ball of paper.
4, the sheet of paper waighed mote when it was sguzashed indo 2 ball,

o

20, Which of the tellowing netivities need a pnsh P 7

A g3
. __3_)"‘61 bal)'u
. a*ec‘ ball

i. Aand £ oonly
A and C only
. Band i «m'i'y‘

A, Band Ciniy

[FS BN

ES



51
immersed m & wough of water as shown in the diagrar

T~

Frmmmme e ; .
...... f BN
o can
Lo . :
SRR Y ~Wu~j?7“ﬁ-
..‘_._.__-._*..;--_ ey }

.t L e

The cap 1s then unserewed and removed. What will happen o the

and i the battle ?

. Water fills the giess bottle to the bam,
Thejevel ofwater inthe tvo g?’\ 1CrCasss,
The tevel of waicr Inthe trongh decreages,

Dewp

1. Aand B only.
2. BandConly

3. Aand Conly

4. A,Band D only

22, Study the circuit below caretully.

When all the switches are closed ali the buibs light p..
t

23
such thatapm Im -mib 2 switehed off while the othe

1
Which switch should be feft open ?

FSTOI
< SN

oo

I
|
.
%y
N

The water jevel in the trovgh remaiss the sams

- frough

e i

A glass bottle 1s half-filled with waterand 3 ¢ )1, 1§ serewed on tghtly,

amasin

wates

1|

toh
ligh

‘R

(EPR

{* 15 then

NS WANS to ieave one switeh
, X

ted. -

treugh




23 acbeaksrisy

acen oo 1 able as shown below, I contains 2 subrinaces 4 2nd B .

at room temparamys |

=

Vhz same benker with stz contents are

"’;../ -
e
O Ao T

=

placed on the ramp as shown below,

\v‘
i
)
1
3
i
i
i
i
>
Lo,

Viich one ofthe snbstances could A and B he 7

24,

Which of the foHowing can change potentinl ericrgy o Kinetic encriy 7

A, gasls) Ting
C. A stretehad rubber band
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M
N

10 ke

v '
Effort 4

Which of the following statements aboutl the syster are correet ¥

A.  The effort used s mote than the {oad

B, Theeffort moves a longer distance than the Inad .

C. The movable pulley moves in the opnosite d frection to the effort.

D. The distance moved by the Joad is lass than that moved by the offori

1. A and Bonly

2. B and Conly
3. A,Band Conly
4, B , Cand D only
26. Which ons of the following requires tiie ]_gi_(effm. tolifiatoad ofo kg ”
e P N S
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force

Leok ot the dingram above, Which of the following will enable vou 1o lift

the {nad wiin the jeast el ?

K f\f‘mw he f'a‘-.*":,e to posiion X .

' B/ Mov ¢ pearer to the Joad.

AL Move and the fulorum nearer to position Y.
it ’vfzw\ ! and the fulerum neares Yo position X

Lo Aand Boaly '
2. Aand Caenly

3, Avand Donly

4. B and oni¥ .

28, Thedhiagram below shows a rabber fyre

_‘..A,u? - .‘. Q
1y 20045
Why are there desp tnrewds on the tyre 7

Thiz is beoanse the deep threads ' .
digtance of the cay

“qaterial used

3 mave smoothly
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30, Three pleces of cardboard are cut into the shapes Qfo Lm.m

They are later placed batween a
and. posibons.

toreh and & sceeen |
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SECTION B (40 marks)
Write your answers to questions 31 to 46

31, Sunlight shines onto a ieal and enters through its outer call:

enters the leaf from the soll, through the roots and the stem

leaf through tiny hofes called \?)

et e et e

(3) ,____ ) o ‘Ll\e ".‘xlllhah[ 25 FF(_“{}: y ‘lh_L») ENSrEY hc}

=0

(4) by co mbmmg water with carton dioxid

Excess supar 13 then tumed Into a substarce calizd starch.

T,
R

Study John's family tree and answer the fallowing questions

Great-grasidfathar Great-grandmaotaer
Ky ]
i AN
' 1
o | ‘,
L_ Mals . : |

L i s s mmminias e s

[:)

£

Alr gets into the

Imnw the eaf cafl, the

o fovnd el

o~
g
pt

o

! i I M
! ! ; : b
/./ Females A iy {m r—-
A 2N ! o A .
N { :
. t — e 4
!
U S,
1 | | ,
A N ANV AN
I . 5
i
A J
! 1
5 |r
j |’_‘L] QN0
/_\ L i ‘
(@) How many grandehildren do Sohi's grear-grandperents pave?  (1m)d
(b)Y  Shade the symboel that represauts doha's erandfathes {1o3)
19




: 33, The dirgraer below shows the food relations up bf § organisms { (P, Q R, Send
Ty dound ince field community.

S e T
s T “
5 —— ~ )
// T N
L e
T \ ) /
\‘* ‘(_..
Q
(3} wompiete the following statements,
i e s preved on by mare than one animal. o)
i . cats both plants and animals.
by Whaien population will inierease the most when 0 {s removed? (T
(c fynaize plant, caterpillar, feld wouss, Jocust and bird are the
orgarisms in the f50d web abov e, which letier represents bi u {im)
4, ramn below shows the human digestive svstem.
&‘*’M o
. @A
= ,—J"‘j;.)
1) e
7 Ww""’\\--\_\ .
r( &-:\’:f';\;‘ } \
W —— r——. 4 _—
¢ T CBF;}A- ?
)
t N e T
\[f“/t;{-;“_-"y{ q
Uy
b
Lo o E
{2 s winch part (A, B, C, D ot &) ot the bo fw digestion compleiz? (i)
A S S
(o) What 2 the digestive juice produced m Part A called? {in




35, Freda kept a cerlain numbec of goats in alarge fenced o fiald for 2 verr, The
goats were only allowed to graze m this enclosuce ' A giaph showing the nomiber

of goats over time is piotied as shows below

P

No. ot
; [
gDaL_\ \\,,f-f“-—“'\-__\
" "~
L ‘\\
et e A S p—— e ¥+ _._,._H_>‘\
2002 7003 Tine
(a) From the graph, what can we say about the ¢
2002 ta 20047 i
Xt r ) . - o U NN " Y 2
ko) What is the most ively reason {o: the shinge in oopuianon? {1}

(ad

\TAK'I‘ SAMES AaT1ount OL 3 t‘)i-t ant f_‘\,-"r"i"«‘ HOU are us t‘d i
The same amount of water 15 poured wite the J wl)».nt
and C.

—L ; 3
St

3
e

|
S

Baaker A . Beater B Porsiar

{(2) Which bzaker will colleet the mast water in ong minnel BNy
Beaker .
(&) Explatn your answer ia (&% )




~3

The heakers below were left h'v

sftemnoon, the five fshes in Beaker X were found crowdg ZM below th
surface of the water. Those in beaker Y were swimming free

|
I
i

s s AN e i
€
3
I
3

t
1

an open window n the mcmmg Later m the

Tes

Loaker X

(2) What is 2 Frely reason for the observation in the afternoon

[V
~—~
PN
-
>
N

it e v aa enc sy

B

(D] Dhring the weht, the fish

ey L‘lxd'u\u \'\'Yh> N

Ly, e
ies 11 both beekers were fonnd swimpring near

(T

s o £ A S e

PERUSFpRSNS
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Four types of plants W, X, Y and 2 ave grown in the sres macked as shown iy
the diagram below.

‘7 s vt | B—

{

i
~—.
p

e
.
el
—~

D]
Y
1

et

The wind 1s blowing towards the east for half the yesr, Which paant is most
Likely dispersed by wind? (iroy

/

Plant

What js the method of seed dispersal for Plant Y7? . (T}

If Plant 7 1s & friut tree, how does its seeds dispersp? {im)

_— - e -t e ik e e a3 ey s gt} e b




O
e

Jane ety

u

p a0 experiment . She wsed four different materials | newspaper | nink
vanguard sheet , drawug paper, and brown paper . She mounted the four materiais

o
on four pieces of wood and exposad them to sunligit.. She recarded her observation
every day.

a. Wiat was the aim of her experimenti?

ey

33
‘.

What ase: the two variables that she must keep the same 9

40, The dizgram helew shows an equal arm balzoce . -
3 wWoOX Y %
I N T IR

2. Incrdevio make ¢ balance where wouid you hang a joad of 400g ?
{ ¥ mark?
5. What ~an you senchide about the effort and the load 1n velation to the
i‘\ 51
G i

 A—— o Ayt

rod
o
s




A spoon was placed on an ics cube &S showr, After five minates , Mel Ling
touched the handie of the spoon that was not in contact with the foe and found
it cold.

a. Which object gained heat 7

{1 mark)

b. Explain why the handie of the spoon frekoohd.

1 g AN

Jrve—

NS

~ 2o 3 ~ ) N « N v " " xS u N
47, Linda put 30« of water in a piastic beakar as shown in the dlagrams below
She then placed the beaker in the freczer . Atler a tew hiowrs gie water had
frozen into 1ce.

\l f 4 I\-. ¢ g
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1 1
l A0em = |
i s . e
e S
uster [[TTTSTTTTTTTS J |‘ i’ & 7 ; PN
watar { s M Aace
oo - e LA ard
T b
G NUN. [P S I

Beaker A Baeker B
a. What changes had taken place whes the warer tumad 0 Toe 7

S -

o
b, Wrat was the volome 0f the e in Basker B ©
- —_ e
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N’ {\M,—/
The rumber of swings a pendutum makes a minute with different lengihs of
sting wers recordad . The vesults are tabulated in the table as shown helow.

: T i B - = ' "
| Leppth of sidng wem Number of swings in_a minute |
§ {0 50 j
i 20 33 i
i - S - ;
- e o :.
{ 43 1 i
‘_,.....;-- " B
l |

EY ) ' ) ' ; :
H i H M 2 H
: ; i i :
; i | U S P :
H 3 - 1 1
o oo
} 1 ; : H i i
: ; 1 i :
: RN T R S R
A ! b
Ve, H e ot arm i i
] H i
1 [
By 0 .
s A ,: o f i %
i ! 3 : 7
} ! ; f
| : ;
R i b S
B H 4 3 ]
i 1 { 3 \
b, § ; i § { ! H i
"“'A H i K ‘ t
ES V) — —~ p— ) Y +

A Using the data above, plot the graph on the gnd ( ) mark)

b, What doee s A renresent ?

c. Whai doze axis I3 vepresent ?

Name ana vasiable that must be kept the same,:

......




Systern A _ Systery & System €

a.  The above  “mple machines maks work easier . Describe an advantage that
the above machings have tn common,

N

b.  Mark with an arow to show the direction of the effor and the toad for
System A and Systent B, Label the arrows carrestly.

s

¢ . o which systenv s is the effort Jess than the load?

{ Imark’

45, Draw lines to show how vou can coraest wires to Hight both the bulbs .

W ormarks Yy

a T boy N
& N __ ° R '“",f/
o TN N \ )

[PUSPIIR GV S

P 1, )
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11.00a0m. 00p.m,

N

awings show the ﬁ*xddow* that are formed by a pizee of wooden pole at

Tie di
different times of the day, .
Praw the chadow cast by the wooden pole 2t 4.000m. and 8. 00am. {2 marks}
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34)
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1) water 72) stomata

3 grandchildren

b)
T

A

ay 1) S e et et
ii) Q

c)'Q
a)y C

b) saliva

[ et et 2 4 M..r, e 2 A bt i

%Y chloroplasi

]

N &

4

4

.

svgav

2} Tt sncreased and decreased atver a while.
b} There were aot encish foad for the goats.
a) A

t) The s0il 3n Beake: A s porous and allows
vater to pass ohrough,

2a) The fishes swim ur ko ger oxygen .  The rian
in beaker Y went tirough the process of
photosynthesisz taking in carbon dioxide and
glving out oxygen, so.dlt gave the fish more
oxygen to hreathe,

b Hydvilla does not ake EFouvd at night as
there is no sunlizght, sSo @0 oxvgen -8
produced. Hence, Tishes iz both peakars X
and Y swim to the water surface for suysen.

a) X

tY It is dispersed by wacer

) is dispersed by the hels of man and

irals.

R



L2
O
N .

z) She vanted teo find out the effecr of materials
exposed Lo suwiight. ' '

b The sise of each material and the length of time
[

I
(@]
R

p\
E

b For the effort to be less than the levad. the efforn
we mest he grester.

4i) a) The ive cube

b)Y JUPhe mandls of the spoon loses heat to the ice cube
as hent travels from bot to wold, .

42Y 2y Thre water had increased in velume,

) N
LbS) L ;

e

in s v

% . s or
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) T4 vepr=asents whe number of swing in 2 minute.
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»ush the pendulum musi be tha ssoe.,
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44) of the force.

O
g
~
U
e
~
7
S
o {
T
©
[N
[
4
1
Y
ot
ras
o)
jos g

b)) Svaten 4 and B

45) Ay i Tf:) 63 /I’Q\j

P
I k
lt | A




